Build 2. Add 1 more.
What is the sum?

2 + 1




Build 3. Add 1T movre.
What is the sum?

3 + 1




Build 4. Add 1 movre.
What is the sum?

4 + 1




Build 5. Add 1 more.
What is the sum?

5 + 1




Build 6. Add 1T movre.
What is the sum?

6 + 1




Build 7. Add 1 more.
What is the sum?

7 + 1




Build 8. Add 1T movre.
What is the sum?

S + 1




Build 9. Add 1T movre.
What is the sum?

O + 1




Build 2. Add 2 more.
What is the sum?

e + 2




Build 2. Add 3 movre.
What is the sum?

2 + 3




Build 2. Add 4 more.
What is the sum?

e + 4




Build 2. Add 5 more.
What is the sum?

e +5




Build 2. Add 6 movre.
What is the sum?

2 + 6




Build 2. Add 7 more.
What is the sum?

e + 7




Build 2. Add 8 movre.
What is the sum?

2 + 8




Build 3. Add 1T movre.
What is the sum?

3 + 1




Build 3. Add 2 movre.
What is the sum?

3+ 2




Build 3. Add 3 movre.
What is the sum?

3+ 3




Build 3. Add 4 more.
What is the sum?

3 + 4




Build 3. Add 5 movre.
What is the sum?

3+5




Build 3. Add 6 movre.
What is the sum?

3+ 6




Build 3. Add 7 movre.
What is the sum?

S + 7




Build 3. Add 8 movre.
What is the sum?

3+ 8




Build 4. Add 1 movre.
What is the sum?

4 + 1




Build 4. Add 2 movre.
What is the sum?

4 + 2




Build 4. Add 3 more.
What is the sum?

4 + 3




Build 4. Add 4 more.
What is the sum?

4 + 4




Build 4. Add 5 more.
What is the sum?

4 + 5




Build 4. Add 6 more.
What is the sum?

4 + 6




Build 5. Add 1 more.
What is the sum?

5 + 1




Build 5. Add 2 more.
What is the sum?




Build 5. Add 3 movre.
What is the sum?

5+ 3




Build 5. Add 4 more.
What is the sum?

5 + 4




Build 5. Add 5 movre.
What is the sum?

5+ 5




Build 6. Add 1T movre.
What is the sum?

6 + 1




Build 6. Add 2 movre.
What is the sum?

6 +2




Build 6. Add 3 movre.
What is the sum?

6 + 3




Build 6. Add 4 more.
What is the sum?

6 + 4




Build 7. Add 1 more.
What is the sum?

7 + 1




Build 7. Add 2 more.
What is the sum?

] + 2




Build 7. Add 3 movre.
What is the sum?

7 + 3




Build 8. Add 1T movre.
What is the sum?

S + 1




Build 8. Add 2 movre.
What is the sum?

S + 2




Build 9. Add 1T movre.
What is the sum?

O + 1




